Jareskata

Satz: Christian Schomers

L3

L3

L3

L3

3
> —3+

>
-

>
™

—3—
rm——

-
F

|

|
&
o

>
F

3
F > —3—

—3—
rm——

e
e
- e
(3]
r II)
r 4]
™
g
r B
[So]
g
i
r ku
(]
P II)
r e
S
L TTTe
L
ol
e
r e
[So]
r |||l
_| 1]
™
g
r B
3]
LITTAL
r ku
(%]
r II\I
- e
™
L TTTe
o |
=
DN

—3—

— 3
——

TTTe

_| [TT®
o)
Tt
r k!..
3 -

L
-+
3 —_—
L

- A
3 —_—
L »

N1
[So)
Ll
[ 1HER
TTTe
r k!..
3 -
L
-
3 -
L
|14
3 —
L -
~
3 -
L
r k!..
3 —_—
L k]
O |
¥
= o
N

[}
)
7o

so macht man dasin Bulgarien!

Begleitung in Achteln -
gegen die Triolen -



